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1.1 Word order, yes-no question, identifying negation marker

1. Ram will not go to Delhi.
T feeelt aeh Sireem
2. Will Ram go to Delhi?
T TH ool g1 Sirwan?
3. no, Ram will not go to Delhi.
4. Ram is a good boy.
TH 3BT oISH ¢
5. ram is not good boy.
A 3T SN A8l §
6. sitawas a good girl
e 3reeT o o .
7. sita was not a good girl.

AT 37T ST gt AT .

1.2 Negation with tense, aspect, mood

8. ram eats food.
A QAT @Il g

9. ram does not eat food.
A GIeAT =Tgl ST g

10. ram is eating the food.
A QT @ @ ¢

11. ram is not eating food.

TH QT A& @7 @ &
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Ram has finished eating food.
A o WMol WT g

Ram hasn’t finished eating food.
TH o G e @R g

Ram ate the food.

TH o Qe @rn

ram did not eat food.

TH o W AT @rr

sita was eating the food.
e @ @r W@ A

sita was not eating the food.
drar @ FE @r WA
Sita had eaten the food.

e & @ @ ar

sita had not eaten the food
Orar o Qe JAgT @RT AT
sita had finished eating food.
A & @rer @ ferar

sita had not finished eating food.
d@ar & @i Jg7 @ o=
Rahul will play cricket

Xrger fohehe Welam

Rahul will not play cricket
el fhehe w7eT Weram

Ram will go to Shimla

TH AT Swarm

ram will not go to Shimla.
A RIACT 81 Srean

Ram goes to Shimla.

TH AT ST §

Ram does not go to Shimla.
TH RIA FE A1 &

Ram went to Shimla.

A TAHT 1T

ram didn’t go to Shimla.

TH R g arr

ram is going to Shimla

TH RIA ST @&

ram is not going to Shimla
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T TAHST ALl o7 GET &

. Ram was going to Shimla.

TH AT ST T AU

ram was not going to Shimla.

A fRFEST e S T o

Ram may go to Shimla.

TH R ST

Ram may not go to Shimla.

TH RI#AT o Sw

ram may be going to Shimla.

TH RIFT S @7 &

ram may not be going to Shimla.

TH RFer F 7 W

ram has gone to Shimla.

TH R T arn

ram hasn’t gone to Shimla.

A TR FET Ter I

ram would have gone to Shimla.

A R T g

ram would have not gone to Shimla.
TH A o 4T @

sita wishes that ram does not go to Shimla
drar $r soor § Fr 77 RieAer 7 siw
perhaps ram may not be going to Shimla
e TH AT 7 37 @T &

1.3 Imperative

44,

45,

46.

47.

48.

ram is not to go to Shimla.
A TRIFCT g Sreem

you are not going to Shimla.
JH 1A 6T Sy

I am not going to Shimla.

A AT 7 S

ram! don't go to Shimla!
A R AT S

don't eat this medicine!

g garg Ad @3



1.4 Conditionals

49. (if) ram does not go to Shimla, then he will go to the market.
3R I AT A Srar & o @ SIeR S

50. if ram is not going to Shimla, then he will go to the market.
3R TH AT &7 S @M § df af SelR Sreen

51. if ram has not gone to shimla, then he might go to the market.
3R TH AT 8 a1 o & §IoTR I/ glam

52. if ram did not go to shimla, then he went to the market.
3O A TAFCT G I=T AT & A SeIR I4r AT

53. if ram was not going to shimla, then he might have gone to the market.
3R T TASFAT Tar ST @7 AT dF ar §1ei) =T gem

54. if ram had not gone to shimla, he had gone to the market.
3O A TAFCT G I=T AT o A SeIR Ir AT

55. if ram has not gone to shimla, he will go to the market.
3R A RAIFAT A& a1 § ar & Sei) Sreen

56. if ram were not be going to Shimla, then he might have gone to the market.
3R T FAT o ST dig ar SR I:=T gieT

1.5 Modals

57. Ram can go to Shimla.
TH RASAT ST T &

58. Ram cannot go to Shimla.
TH AT A8 ST bl &

59. Ram must go to Shimla.
TH F AT ST g3

60. Ram must not go to Shimla.
TH Y TRAAST TG SATAT T991T

61. Prem wants to eat fruit.
TH B el ATET &

62. Prem does not want to eat fruit.
TH ©l AT Q@I ATET

63. ram left the house.
A & W o8 Gar

64. ram did not leave the house.

A o o AT oig fGar



1.6 Scope of negation and neg-raising

65. Prem went quickly.

9H STeal STeal doll 31T
66. Prem did not go quickly.
UH STed! STedl a8l I
67. Prem works slowly.
97 R € FH FAT §
68. Prem does not work slowly.
9 R R FreT A AT
69. It is not Prem who does the work swiftly.
OH QT ool STodl &TH HLdl g
70. I feel that not even one man will come.
TS T § B TF o e A mwen
71. I don’t feel that even one man will come.
HSY 6T ofaTel s Teh §fr e meem
72. 1 feel that even one man will come.

S 1T & T T 8 e ImeIn

1.7 NPIs

73. Sita does not like to play cricket at all.
AT 1 fohehe WoreTT foshel ade w7gT

74. s/he will meet no one.
ar fondr & ofr =T Aot

75. Nobody can lie to Prem.
Hrg o 9H § S5 G dleT Hehell

76. Ram did not go to shimla anytime.
T Fefr AT ST Ir=T

77. not even one man stands in the field.
Od 7 T ot e 8 wer §

78. Prem has not gone to Shimla until now.

UH 39 a& TFeT 78T T
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